450

‘ ‘ ‘ M (kq)
Third Angle Projection Mode L No. Max Appli. Motor (kW) — Terminal Symbol Cooling EWC no [ve Filler
Dimensions in mm Normal Dufy Heavy Duty [NPUT QUTPUT(MOTOR) No Internal EMC Filter [Infernal EMC Filter(C3)|Infernal EMC Filfer(C2)
S CIPR-GAT0040890000-400000 45 31 RILT SIL2 T/L3 | UJT VT2 WIT3 2 27 27 22
Digital 4 Mounting Holes O:A to / Base Point of
Operator for M6 Screws BrA o / 7 6 Terminals Board
45 165 (45) ‘ ' Refer to Drawing No.900-190-125
T T 2XEMC F\L%@f for Terminal Board Detail
4‘4‘4*:( SWitceh
A - _—— —— _ ( EMC Oﬂ L ) o HUHU oL ‘ , .
f“ 7£ L@  E— R E— O HR }\ y J@ A108100088880001888A ﬁﬁ @ i [I‘.%m MO in —"e rmina LS
E]L ,7,‘ ! ) TR NN Q = .
’é§ 5 0 @ =, NN with M6 Screws
e\ " of NN - ‘Hex socket cap
a NN { (WAF : Smm)
X = '®) m\ :if':' i
‘ @J - v v Main Terminals
- = - with M5 Screws
o 582 = P Slot(-)
< i =N &
& Y N aul
T — — | —
— | —
0
b
° 0.9 U
d D Grounding Terminals
o ;@ % 2xP15(=30) with M6 Screws
- s — — 50.6 1 [17.5 Phlillips(+)/Hex head
| T ——ed ®e F 50 70 (WAF: 10mm) combo
5
max .17 |_max 17
47 .5 170 (472 .5) 2.3
255 (1.5) 280
z =z C1=Y S |8
— S w 2 O © 97 N O — o 2 2| =
S| E | E == o E 2
e e [ s 1 1 - 2= |E
= > — 1l O C I Ol S5 = e —
= = (It e =
@ AT OC —B (IS 1™ T
e - e ———m—06
E lulgg “\ \35 1 35 T 3 S
o EEREREE=TR N Scqle - Detail (without Front cover)
_© © ‘ Scale 1:3




